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41-13 . ure 41-1, we see that the average binding energy per nucleon at A = 63 is about 8.7 MeV.
' y the number of nucleons in the nucleus.

(63)(8.7MeV) = 548.1 MoV ~[550MeV
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41-65 e the tritium in water is being replenished, we assume that the amount is constant until the

i nﬁlhm:tduﬂjl. We use Eq. 41-6.
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16. 'ﬂ_EWMKMHMNWMEBmV is released per fission of a
42-29  Also, note that the problem asks for the mass of 21U, but it is the U nucleus
fission. Since “ U is almost 100% of the natural abundance, we can use the
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f alpha particles is 20 and the quality factor of X-rays is 1, it takes 20
nys 10 cause the same biological damage as compared to alpha particles.
cles is equivalent to 250 rad x 20 = of X-rays.



